
Economic Commission for Latin America and the Caribbean (ECLAC). Life Tables.
Demographic Observatory, Latin America and the Caribbean (LC/PUB.2017/20-P).
Santiago: United Nations, 2017.
Downloaded from https://www.cepal.org/en/node/44746 (14.01.2019).

https://www.cepal.org/en/node/44746


OBSERVATORIO
DEMOGRÁFICO

América Latina
y el Caribe

DEMOGRAPHIC
OBSERVATORY
Latin America  
and the Caribbean

2 0 1 7

Tablas de  
mortalidad

Life 
tables



190

ECLAC • Latin America and the Caribbean. Demographic Observatory 2017	 Life tables

Cuadro 20 (continuación 2)/Table 20 (continued 2)
Uruguay: tablas abreviadas de mortalidada

Uruguay: abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.054 0.052  100 000  5 152  95 776 0.947 b 6 558 361 65.6
1 4 0.001 0.006  94 848   545  377 931 0.994 c 6 462 586 68.1
5 5 0.001 0.003  94 303   243  470 910 0.997 6 084 654 64.5

10 5 0.001 0.003  94 061   240  469 705 0.996 5 613 744 59.7
15 5 0.001 0.006  93 821   522  467 802 0.993 5 144 039 54.8
20 5 0.002 0.008  93 300   720  464 696 0.992 4 676 237 50.1
25 5 0.002 0.008  92 579   784  460 936 0.991 4 211 540 45.5
30 5 0.002 0.010  91 795   909  456 703 0.988 3 750 605 40.9
35 5 0.003 0.014  90 886  1 284  451 219 0.982 3 293 902 36.2
40 5 0.004 0.022  89 602  1 938  443 162 0.972 2 842 683 31.7
45 5 0.007 0.034  87 663  3 015  430 779 0.955 2 399 521 27.4
50 5 0.011 0.055  84 648  4 676  411 551 0.932 1 968 742 23.3
55 5 0.017 0.082  79 972  6 593  383 376 0.898 1 557 191 19.5
60 5 0.026 0.124  73 379  9 088  344 173 0.850 1 173 815 16.0
65 5 0.040 0.181  64 291  11 630  292 379 0.783  829 642 12.9
70 5 0.060 0.262  52 661  13 800  228 805 0.693  537 263 10.2
75 5 0.090 0.367  38 861  14 276  158 614 0.577  308 458 7.9
80 5 0.139 0.510  24 585  12 544  91 564 0.447  149 844 6.1
85 5 0.196 0.639  12 041  7 694  40 971 0.332  58 279 4.8
90 5 0.261 0.747  4 347  3 247  13 618 0.237  17 309 4.0
95 5 0.331 0.828  1 100   911  3 223 0.127 d  3 691 3.4

100 ω 0.404 1.000   189   189   468   468 2.5
Mujeres/Females

0 1 0.043 0.042  100 000  4 166  96 584 0.957 b 7 209 912 72.1
1 4 0.001 0.006  95 834   537  381 831 0.995 c 7 113 328 74.2
5 5 0.000 0.002  95 297   174  476 049 0.998 6 731 497 70.6

10 5 0.000 0.002  95 123   181  475 163 0.998 6 255 448 65.8
15 5 0.001 0.003  94 942   292  473 983 0.996 5 780 285 60.9
20 5 0.001 0.004  94 651   392  472 274 0.995 5 306 303 56.1
25 5 0.001 0.005  94 259   470  470 118 0.994 4 834 029 51.3
30 5 0.001 0.006  93 789   596  467 452 0.992 4 363 910 46.5
35 5 0.002 0.009  93 192   840  463 862 0.989 3 896 458 41.8
40 5 0.003 0.013  92 352  1 209  458 739 0.984 3 432 596 37.2
45 5 0.004 0.019  91 143  1 719  451 418 0.976 2 973 857 32.6
50 5 0.006 0.028  89 424  2 529  440 800 0.964 2 522 439 28.2
55 5 0.009 0.043  86 896  3 768  425 059 0.946 2 081 639 24.0
60 5 0.013 0.065  83 128  5 424  402 078 0.917 1 656 580 19.9
65 5 0.022 0.103  77 703  7 973  368 584 0.866 1 254 502 16.1
70 5 0.037 0.169  69 730  11 752  319 271 0.791  885 918 12.7
75 5 0.059 0.258  57 978  14 982  252 435 0.679  566 647 9.8
80 5 0.102 0.406  42 996  17 460  171 327 0.539  314 212 7.3
85 5 0.156 0.552  25 535  14 104  92 416 0.407  142 885 5.6
90 5 0.221 0.685  11 431  7 831  37 579 0.290  50 469 4.4
95 5 0.294 0.790  3 600  2 842  10 895 0.155 d  12 890 3.6

100 ω 0.380 1.000   758   758  1 995  1 995 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


